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o HII0IEH ' 77.,000,0008 = {x25,000) 77,000
o HI|AED 58,000,000 = (x12,500) 58,000
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223 s@oEy s 9,818,000 £1,953,000
(100-201-01) MSRT2IL 50,000
© ARE M Y HIGH BN S 50,000,000 = 50,000
(100-201-02) FzS oy 150,000
= ZBRS U MASHE = 130,000
CEE A=A 130,000,0008 = 130,000
I o BE5M) 29 2 g 20,000,0008 = 20,000
i (100-308-10) BNBSOICHB A HS A2y 5,441,000
CR=-EF-Fopl] 5,441,000,0008 = (%5,441,000) 5,441,000
i (100-401-01) Al&H| 100,000
= HIIHA 24 7)) ax 100,000,0008+17| = 100,000
100-402-01) 2T A S 2R (T 1L Y) 1,000,000
o SLEFI SRR 50,000,0009+207] = 1,000,000
(100-403-02) BB SIS A== 2/ A R H| 1,124,000
o ShEEE | 3.000,00081%1087) = (%324,000) 324,000
S HYY S8 BEERL 0 200,000,000 «47 4 = 800,000
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HsAgy 23 3,696,000 )
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NG paAPY 2 560,000 ABD,000
oo (100-402-02) BIZREAIYRE(OIHTIR) 480,000
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